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QUESTION 1

Which of the following products is best suited for heterogeneous data replication between DB2 and SQL Server? 

A. InfoSphere Replication Server 

B. InfoSphere Classic Replication Server 

C. InfoSphere Change Data Capture (CDC) 

D. InfoSphere DB2 Connect 

Correct Answer: C 

 

QUESTION 2

Which of the following products use InfoSphere DataStage as target database, and licensing based on the size of the
DataStage server? 

A. InfoSphere Change Data Capture (CDC) 

B. InfoSphere Change Data Delivery (CDD) 

C. InfoSphere Replication Server 

D. InfoSphere Classic Replication Server 

Correct Answer: B 

 

QUESTION 3

Can the port number originally assigned to a CDC instance be changed to a new value? 

A. Yes, by editing the CDC instance properties. 

B. Yes, by editing the Management Console properties. 

C. No, it requires the CDC instance be re-created from scratch. 

D. No, a port number once assigned to an instance cannot be changed. 

Correct Answer: A 

 

QUESTION 4

Which of the following products is capable of replicating data from supported data sources to DB2 on z/OS? 

A. InfoSphere Replication Server for Linux for z Series 
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B. InfoSphere Classic Replication Server for z/OS 

C. InfoSphere Change Data Capture (CDC) for z/OS 

D. All of the above. 

Correct Answer: D 

 

QUESTION 5

Which DataStage connectivity object is used to integrate CDC with DataStage? 

A. MQ Stage 

B. CDC Transaction Stage 

C. DB2 Connect Stage 

D. ODBC Stage 

Correct Answer: B 

 

QUESTION 6

Assuming TABLE-A and TABLE-B are joined at source and replicated to TABLE-C at target, the replication type
\\'Consolidation `One-to-One\\' will replicate inserts and updates to TABLE-C only when ___________________. 

A. TABLE-A is updated 

B. TABLE-B is updated 

C. both TABLE-A and TABLE-B are updated 

D. All of the above. 

Correct Answer: D 

 

QUESTION 7

Which of the following replication methods may be used to maintain inventory levels up-to- date in real-time? 

A. Adaptive Apply 

B. Summarization 

C. Consolidation ?One-to-One 

D. Consolidation ?One-to-Many 

Correct Answer: B 
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QUESTION 8

What happens when a new CDC subscription is created while database logging is turned off at the source? 

A. The CDC instance cannot be connected 

B. The datastore cannot be created or connected 

C. The subscription that uses the source datastore cannot be created 

D. When the subscription is started using the Management Console, the replication will not succeed. 

Correct Answer: D 

 

QUESTION 9

An InfoSphere Change Data Capture (CDC) instance will NOT launch if _______________. 

A. the instance metadata schema is dropped 

B. the instance port number is used by another active process 

C. the database access password has changed 

D. All of the above. 

Correct Answer: D 

 

QUESTION 10

Which of the following database objects can be replicated while integrating heterogeneous data sources? 

A. Tables and Stored Procedures 

B. Tables and Tablespaces 

C. Tables and Views 

D. Table objects only 

Correct Answer: D 
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